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‘Qome men are not honest” 1s a
proposition of the form

1) A () E
(3) I 4 O

Which term is disiribated in °‘E’
préposition 2

(1) Subject term

(2) Predicate term

(3) Both the term

(4) None of the terms

Truth is related to
(1) Deductive argument
(2) Proposition
(3) Syllogism .

{4) Deductive argument and syllogism
both

“Subduct from any given phenomenon
such part as is known by previous
induction to be the effect of certain
antecedents and the residue of the

. phenomenon is the effect of the

remaining antecedents.” According to
Mill, the method of causal relation is
called

(1) Method of Agreement

(2) Method of Differcnce

(3) Mothod of Concomitant Variation
(4) Method of Residues

According to traditional square of
opposition A and [ are

(1) Sub-alternation
(2) Contradictory
(3) Contrary
(4) Sub-contrary
12
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10.

In method of agreement according to
Mill is

(1) All situation are same.

(2) Some situation are same.

(3) Only one situation is same.

(4} No situation is same.

“No men are mortal’ is contradictory
of

(1) Somc men are mortal.
{2} Somec men are not mortal.
(3) All men are mottal.

{4) No mortal is man.

Which of the following pairs of

proposition one has  predicate
distributed ?

(1) Aandl (2) AandE

(3) Eand O (4 Tand O

Jainism is called ‘Niastika® because it

(1) does nat belicve in any existence.

(2) does not take Agama as a valid

source of knowledge.

(3) does not regard Veda as a valid

source of knowledge.

(4) does not regard Atman as real.

Which one of the following does not
belong to the “Triratna’ as Buddhism ?

(1) Sila
(3) Samadhi

(2) Déna
(4) Prajna
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According to Gita Arjuna’s duty is
determined by

(1} The scriptures

(2} Varna-dharma

(3) Krishna himself

{4) The circumstanccs

*Trivarga’ is

(1) Faith, Knowledge and Conduct

(2) Dharma, Artha and Kama

(3) Knowledge, Action and Devotion
{Bhakti)

(4) Dharma, Devotion (Bhakti} and
Moksha

- “Nishkama Karma’ in the Bhagavad

(G ita means

(1) Purposcless action

(2) Disinterested action
(3) Renunciation of action
4) Desireless action

The governing principle of whole

universe according to vedic seers is
(1) Yajna

(2) Karma

(3) Rta

4y Ajiva

What amongst the following is not a
“Yama’ according to Yoga Philosophy 7

(1) Ast.cya
(2) Santosh
(3) Ahimsa
(4) Aparigraha
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(4)

In which stage of Astanpga Yoga, the

distinction between the knower, the
known and the knowledge disappears ?

(1) Samprajnita Samadbi
(2) Asamprajnita Samadhi
(3) Savitarka Samadhi
(4) Sananda Samadhi

‘Pratitya Samutpéida’ is associated with
(1) Duhkha

(2) Duhkha-Samudaya

{3) Dubkha-Niradha

{4) Duhkha-Nirodha Marga

What compels man to act according to

" the Gecta ?

(1} Desire to live

(2) Prakriti’s gunas

(3) Sanction of scriptures
(4) To enjoy objects

The ‘Sthita-Prajfia’ according to the
Geeta is one who

(1)
(2)
€)

has renounced the world.
performs rituals,

is even minded in success and

Tailure.
is after enjoyment and power.

Which one of the following is not
Pramana according to Nydya ?

(1) Perception (Pratyksha)
(2) Anumana
(3) Arthapati
(4) Upamaina
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Which of the following is atomic substance
according to Vaishesika system ?

(1) Water {(2) Soul

(3) Time (4} Space

‘Buddhi’ in the Samkhya system is
(1) aPrakriti only

{2) a Vikriti only

(3) botha Prakriti and a Vikriti
(4) neither Prakriti nor Vikriti

In Nyiya system the fourth member of
the “five membered syllogism’ is

(2) Hetu
(4) Udaharana

(1) Upanaya
(3} Nigamana

According to Nyaya, ‘lce looks cold’
is an cxample of

(1) Samanya Laksana

(2) JInzna Laksuna

(3) Yogaja

(4) Laukika Sannikarsa

In the statement ‘Rose is red” the
relation between Rose and Red,
according to Vaishesika is case of

(1) Samyoga

(2) Svariipa

(3) Tadatmya

(4) Samavaya

‘Five Skandhas’ is

(1) Earth, Water, Fire, Air and Ether

(2) Colowr, Taste, Smell, Touch and
Sound

(3) Riipa, Vedana, Sanjna, Samskara
and Vijnina

(4) Avidya, Asmita, Réga, Dvesa and
Abhinivesa
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Samkhya admits the first cause, which
is specifically described as the
supreme root causc of the world is

(1) Purusa {2) Praknti
{3) Manas (4) Ahampkara

Advaitavada is theory of
{1) Shamkara
(3) Samkhya

{2) Ramanuja
{4) Yoga

According to Vaishesika system ‘Padartha’
is '

{1} Only Ixistent

(2) Only Knowable

(3) Existent, Knowable and Nameable
(4) Only Nameable

‘Human knowledgc is relative and
partial’ is a view held by

(1} The Nyaya system
(2) The Charvaka system
(3) Jainism

(4) Buddhism

The philosophy of Descarte is
(1) Monistic (2) Dualistic
(3) Pluralistic (4) Nihilistic

“Janana Marapa Karananam Pratiniya
Madayugapat Pravritescha” is associated
with

(1) Charvaka system

(2) Samkhya system

(3} Nyaya system

(4) Mimamsa system
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Vaishesika maintains that the absence
of a connection between two things for
all time 1 known as

(1) Pragabhava (2) Dhvamsabhava
(3) Atyantabhava (4) Anyonydbhava

According to Locke primary quality of
object is

(1) Colour
(3} Extension

(2) Sound
(4) Taste

The relation between mind and body
according to Leibnitz is

(1) Parallelism
(2) Interactionism
(3) Qccasionalism

(4) Pre-established harmony

Who propounded the doctrine of
Empiricism ?

(I) Plato

(2) Descartcs

(3) Locke

(4) Kant

Who
Rationalist ?
(1) Hume
(2) Berkeley
(3) Leibnit~
(4) Locke

among the following 1s

Who said that ‘thought and extension
are atiributes of God’ ?

(1) Descarte

(2) Spinoza
{3} Leibnitz
{4) Locke

12
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‘Monads are windowless® according o
whom 7

(1) Leibnitz
(3) Berkely

(2) Hume
(4) Spinoza

According to Locke
(1) therc is no material substance.

(2) therc is no material and spiritual
substance.
{3) sensation and reflcction are the

two sources of all experience,

(4) things-in-themselves are unknown
and unknowable,

Which one of the following has
refuted ‘Innate Idea’ ?

(1) Locke
(3) Kant

(2) Spinoza
(4} Descartes

‘Cartesian Method® is

(1) Philosophical methad of Mill

(2) Philbsophical method of Descarte
(3) Philosophical method of Socrates

(4) Philosophical method of Kant

Who has refuted materialism in
Western Philosophy ?

(1) Berkeley {(2) Locke
(3) Spinoza (4) Leibnitz

“Perception without concepts arc blind,
concepts without precepts are empty,’
according to '
(1) Plato

(3) Leibnitz

(2) Descartes
(4} Kant
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Spinoza accepts
(1) Dualism

(3) Pluralism

(2) Monism

(4) Empiricism

Find out the consistent pair in the

following :

(1) Subjective Idealism — Descartes
(2) Innate Ideas — Spinoza

(3) Pineal Gland —Hume

(4) Simple Idea—Locke

In the proposition ‘some seldiers are
cowards’ :

(1
2
G)

Only subjcct term is undistributed.
Only predicate term is undistributed.

Both subject and predicate terms
are undistributed.

Subject term is undistributed and
predicate term is distributed.

()

According ‘to traditional square of
opposition, what is the relation
between ‘E’ and “O” proposition ?

(1) Contrary (2) Contradictory
(3) Sub-contrary (4} Sub-alternation

In the “Third Figute® of syllogism, the
middle term is
(1) The subject term in thc majox

premiss and predicate in the

~ minor premiss.

(2) The subject term in the both
premisses.

(3) The predicate term in the both
premisses.

(4) The predicate term in the major

premiss and subject term in the
. Iinor premiss.
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35.

Golden means in ethics is accepted by
{1) Plato

(2} Socrates

(3) Aristotle

@) Mill

Which one of the following views

does Gandhi hold 7

(1} Truth is the means and God is the
end.

(2) Ahimsa js the means and Freedom

3)

is the end.
Virtue is the means and Ahimsa is
the end.

(4) Ahimsa is the means and Truth is

the end.

Who accepts that ‘a person having
knowledge cannot be immoral’ ?

{1} Aristotle
(3) Locke

(2) Socrates
(4) Berkeley

Which one of the following is not
included in ‘Cordinal Virtue’ of Plato ?

(2} Truth
{(4) Wisdom

(1) Temperance

(3) Courage

Who among the following was
ohsessced with the ‘Intellectual Love of
God™ ?

(1) Descartes
{3) Spinoza

(2) Locke
(4) Hume

The founder of Subjective Idealism 1s
(1) Locke (2) Berkeley
(3) Hume {4) Kant
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fn the philosophy of Plato, ‘Ideas’ are
Q)
(2
&)
4)

real, but not existent
existent but, unreal
neither existent nor real

both existent and real

Which one of the following cause does
not belong to Aristotle’s philosophy ?

(2) Formal
(4) Efficient

{1) Necessary
(3) Matcrial

According to Gandhi the highest ideal

of truth is to be followed in
(1) Thought (2) Speech
(3) Action (4) All the above

What is the right sequence according
to Sri Aurobindo ?

(1) Matter, Life, Mind, Higher Mind
(2) Higher Mind, Life, Matter, Mind
(3) Mind, Life, Matter, Higher Mind
{4) Lifc, Mind, Higher Mind, Matter

There is nothing good without
qualification except good will, who
said it 7

(1) Hume
(3) Bentham

(2) Mill

(4} Kant
‘Theory of *Andlmavada’ is associated
with

(1) Jainism

(2) Buddhism

(3) Samkhya system

(4) Nyaya system
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62.

63.

64.

63.

606.

The view that liberated soul is devoid
of knowledge and bliss is accepted by

(1) Nyaya-Vaishesika
(2) Advaita
(3} Samkhya
(4) Charvaka

Kant’s  distinctively  philosophical
method is called the

(1) Mathematical method
(2) Transcendental method
(3) Inductive-mathematical method

(4) Dialectical method

‘PramAna-Samplava’ is accepted by
(1) Nyaya

(2) Mimamsa

(3) Buddhism

(4) Yoga

Which one of the foilowing holds
‘Anirvachaniyakhyati’ as a theory of
error ?

{1) Ramanuja Vedanta

(2) Samkhya Philosophy

(3) Prabhakar Mimansa

(4} Shankara Vedanta

Whick onc of the
distinctions  cxist  in
according to Ramanuja ?
{1) Vijatiya

(2) Svagata

(3) Sajatiya

(4) Bahya

following
Brahman
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¢7. Which one of the following does pot

68.

69.

70.

71.

betong to the Eight Fold Path in
Buddhism ?

(1) Samyak Samkalpa

(2) Samyak Vak

(3) Samyak Charitra

(4) Samyak Smriti

The meaning of ‘Moksha” according to
Ramanuja is

(1) Jiva dissolves into Brahman.

(2) ¥ivabecomes similar to Brahman.
(3) Jivabecomes all pervasive.

(4) Tivadoes not remain dependent.

“Smrtirupah. Paratra piirva Drstavabhasah
Adhyasah’ is the definition given by

(1) Nyaya— Vaishesika

(2) Prabhakara

(3) Samkara

(4) Kumarila

Which one of the following Pramanas
according to Advaita Vedanta is
recommended for the knowledge of
‘Abhava’ ?

(1) Shruti

(2) Anumana

{3) Upaména

(4) Anuplabdhi

‘Dehatmvada’ is related with
(1) Chérvika

(2) Jainism

(3) Buddhism

(4) Samkhya

12
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72.

73.

74.

75.

76.

According to Shankaracharya Moksha
is possible by

(1) Action

{2) Knowledge

{3) Devotion

(4) Rituals

According to Samkara Brahman is
(1) the totality of mind and matter
(2) pure consciousness

(3) aseries of momentary cognitions

(4) Maya

Nyaya-Vaishesika accepts
(1)
(2)
G)

only Nirvikalpaka perception
only Savikalpaka perception

both Savikalpaka and Nirvikalpaka
perception

neither

(4) Nirvikalpaka

Savikalpaka perception

nor

Which one of the following pairs is not
correct 7

(1) Samkhya— Atheism
(2) Jainism — Eternalism-Non-etemalism
(3) Shamkara — World is unreal

(4) Nydya — Vedas are Apauruseya

According to whom ‘like the flame of
lamp, life is changing every moment’ ?
(1} Jainism

{2) Buddhism

(3) Charvaka

(4) Samkhya system
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77.

78.

79.

80.

81.

Pramana iz Indian Philosophy implies
{1) means of valid knowledge

{(2) means of invalid knowledge

(3) the thing to be known

(4) substance

The idea of Plato are subsumed undcr
the highest idea, which is the

(1) Idea of God

(2) Idea of the Good
(3) Idea of the Soul
(4) 1dea of the World

Which one of the following is a rule of
Syllogism ?

(H)
2)
()
(4

Law of Idcntity
Law of Contradiction
Having three premiss

The two premisses must not be
negative

In Jainism that which can associate
and dissociate 1s called

(1) Time
(2) Akash
{3) Pudgal
(4) Iiva

According to Jainism ‘Kasaya’ is

(1) Krodha, Lobha, Ahimsa, Satya

(2) Satya, Ahimsd, Asteya, Aparigraha

(3) Manas, Buddhi, Ahamkara,
Tanmatras

(4) Krodha, Lobha, Maan, Maya

12



82.

83.

84,

85.

86.

i2

A Tote & T &
(1) H&eq

(2) Uress %=H

(3) fo® FH
(4) e

T AR ATt ¥

(1) TR €98
(2) ufees w4

- (3) digFETd,

(4) ara g ®

=¥ TR e & —

(1), gEl d IHE 9T |

(2) g H giEmners 9T

@) pc i e i e alleG it e e
TR &9 |

@) GEERYERFRI WS |

Prafeiad § § 9 ST B ST &
REaT TR & 2

(1) TR
@) e
(3) W
(4) T

RO & G o
(1) =gy

(2) TR

(3) WA

(4) elg Tor

17

82,

83.

83,

86.

Objcct of moral judgement is
{1) Wil

{2) Voluntary action

(3) Non-voluntary action
(4) Froedom

The categorical imperative is so called
because the imperative is obligatory
(1) Psychologically

(2) Religiously

(3) Rationally

(4) Socially

Bentham accepts
(1) Qualitative

pleasures
@)

Quantitative difference among
pleasures _

3

4)

differcnce  among

Both Qualitative and Quantitative
difference among plcasures.
Pleasures arc devoid of any sort
of difference

Who among the following regards
consciousness as an act of self 7

(1) Kumarila

(2) Kapila

(3) Prabhakara

(4) Shankara

Founder of Shiinyavada was
(1} Vasubandhu

{2) Nagarjuna

(3) Arvindo

(4) Maharshi Ramana
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§7.

88.

89.

90.

According Samkhya system
satkAryavida, means that

(1)
2)
(3)

The effect is a new product,
The effect pre-exists in the ¢ausc.

The cause ceases after producing
effect.
(4)

The effect is an appearance of

Ccausce.

Who has accepted the existencc of
synthetic A priori judgements ?

(1) Hume
(2) Kant
(3) Leibnitz
(4) Locke

Khyati according to Indian Philosephy

means

(1) Theory of Truth

(2} Theory of Falsehood
(3) Theory of Error

(4) Theory of Doubt

Which one of the following
alternatives is accepied by the Nyaya
system ?

(1) Svatah-Pramanya, Paratah-
apramanya -

Svatah-Pramanya, Svatah-
apramanya |
Paratah-Psamanya, Svatah-
apramanya

Paratah-Primanya, Paratah-
apramanya

@
3
“)

12
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91.

92.

93.

94,

0s.

According to ‘Akhyativada’ the cause

of iltusion is

(1) Non-discrimination between two
cognitions of their object.

{2) The synthesis of the perceived
and the remembered.

(3) The mistaken cognition of an

object which is elsewhere.

(4) The basis common elements of

the reality.

Who has propound the doctrine of
‘Arambhavada’ 7

(1} Sankhya

(2} Nyaya

(3) Advaita Vedanta

(4) Charvaka

Hypothesis means

(1) Imagination:

(2) Memory

(3) Pre-thinking about objcct
(4) Artofliving

According to Nyaya philosophy,
Prama is

(1) Right knowledge

(2) Manifestation of an object

(3) That which is practicable

(4) Knowledge of an unknown object

According to Nydya Vitanda is
(1) Artof debate

(2) An argument in which each party
is merely interested in refuting the
other’s position rather than
establishing its own

Both are frue

None of the above

€)
(%)
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98.

99.

100.

101.

Which is not included in four Noble
truth in Buddhism ?

{1) The existence of suffering
(2) The cause of suffering

(3) The metaphysics of suffering
(4) The cessation of suffering

The meaning of Jina is

(1) Jiva

(2) Pudgala

(3} Purush Vishesha

(4) Winner of Raga-dvesh

According to Samkhya purush is
(1) God (2) Soul
(3) Humanbeing (4) Padartha

According to Shankaracharya ‘Brahman’ is
(1) God

(2) Pure consciousness

(3) Purusa

{4) Jina

Who was the propounder of Raja-
Yoga ?

(1) Samkaracharya

(2) Kapila

(3) Radhakrishana

(4) Vivekananda

‘Esse est percipi” describes the view
of reality held by

(1) Descartes
(2) Lcibnitz
(3) Kant
(4) Berkeley
12
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102. Who refuted the concept of innate

103.

104.

105.

106.

107.

ideas ?

(1} Locke
(2) Descartes
(3) Aristotle
{4) Spinoza

Kant’s Critical philosophy
(1

Rejects the claims of Empiricism
only

(2) Rejects the claims of Rationalism
only
(3) Harmonists the claims of

cmpiricism and rationalism
Advocatcs scepticism

(4)

The book *“Critique of Pure Reason”
was written by
(1) Hume
(3) Locke

(2) Kant
(4) Berkeley

Who is called as subjective idealist ?
(1) Kant (2) Hume
(3) Betkeley (4) Spinoza

Who has given the stalement “mind is
a tabula rasa” 7

(1) Socrates

(2} Hume

(3) Locke

(4) Leibnitz

Empiricist philosophers are

(1) Descartes, Locke, Berkeley
(2) Locke, Berkeley, Hume

(3) Spinoza, Leibnitz, Locke
(4) Locke, Descartes, Spinoza
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108

109.

110.

i11.

112,

113.

The meaning of “Cogito ergo Sum” is
(1) Selfisanidea

(2) [ think therefore I am

(3) Matter have extended quality

{4) God creates the matter

Who wrote the book “Discourse on
Method™ ?
(1) Descartes
(3) Kant

(2} Locke
{(4) Spinoza

Who supported the concept of ‘innate
ideas’ ?
(1) Locke
(3) Plato

(2) Berkeley
(4) Descartes

“Pereeption is the only source of valid
knowledge’, accarding to

(2) Buddhism
(4) Simkhya

(1} Jainism

(3) Charvaka

According to Nyaya philosophy, God
is

(1) Subject of Knowledge

(2) Creator of Emotions

(3) Kunower of Subject

(4) Nimitta Karana of the world

Whose theory of error is called as
“Vipritkhyati® 7

(1) Prabhakara

(2) Kumarila

(3) Shankar

(4) Ramanuja

12
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114.

115,

116.

117.

118.

119.

According to Ramanuja, the source of
liberation is

(1) Bhakti
{2) Prapti
(3) Both are true
(4} None of these

Descartes is philosopher of
(1) Matcrialist (2) Idealist
(3) Dualist {4) Pluralist

By seeing ice, onec also cognizes
coldness of ice, it is called

(1) Jiana laksana pratyaks

(2) Samainya laksana pratyaks

(3) Yogaja laksana pratyaks

(4) Atma laksana pratyaks

“No mango is a fruit” is

(1) Universal Negative Proposition
(2) Universal Affirmative Proposition
(3) Particular Negative Proposition
(4) Particular Affirmative Proposition

Two atheistic Indian schools do not
believe in God as creator of the world
are

(1) Sankhya and Yoga

(2) Yoga and Nyaya

(3) Nyaya and M imamsa

(4) Mimamsi and Sankhya

The cause of suffering is
(1) First Nobel Truth
(2) Second Nobel Truth
(3) Third Nobel Truth
(4) Fourth Nobcl Truth




120, i T ¥ orgaw Pt § @ W @ | 120. Which of the following is not a substance -

121.

7o R 7 2
(1) g
(2) STEAIST
(3) =T

(4) 7

sty o e H @ IRl § ?

(1) vigEe

(2) Twieen

122,

(3) AR
(4) SreEEEE

Sm e ¥ dwrew fhem W
Faera O Peatatega f 9 oW @
winfaa € 2

(1) =i parHes e

(2) wogTH! TR ST

(123,

(3y ol SRarE e
(4) st weft

7% ot 5, U e WioeE, WU
wiahear & o el &, afs o8 =
2 | Su ufiREm W eikd B
wgft @m : fe F @ fEw odeR &
fergra o M AR 8 7

(1) % vaer & Ragra

) e o TR w5 R

() Sre T = fasra

(4) TepR =1 weers =1 fagrd

24

121.

122.

123.

according to Vaisesika philosophy ?
(1) Paramanu

(2) Akasa

(3) Kila

(4) Manas

In which period the basic foundations
of physical, mental and personality
developments are laxd ?

(1) Adulthood

(2) Adolescence
(3) Childhood

(4) Infancy

In the stages of cognitive development
of Jean Piaget, which of the following
is included ?

(1) Formal operational stage
{2) Sensory operational stage
(3) Concrete operational stage

(4) All the above

The statement that, a stimulus pattern
that is acting at the time of a response
will, if it recures, tend to produce that
which of the

response, indicates

{ollowing theory of learning ?
(1) Hull’s theory of Reinforcement
(2) Guthrie’s theory of Substitution
(3) Field theory of Learning
(4) Skinner’s Reinforcement theory

12
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125,

126.

127.

124. Which of the following statements

regarding  the  importance  of
Psychology in Teaching-Learning are
correct 7

a. Helps to know the learner.

b. Helps the teacher to kuow himself.

¢. Helps in effective

process.

learning

d. Helps in professional growth of
the teacher.

Select the correct answer from the
codes given below :

(1) a,candd (2} a,bandc
(3} b,candd (4) a,¢,bandd

According to Ausubel, which kind of
lcarning has problem solution in it ?
(1} Rote learning

(2) Meaningful learning

(3) Discovery leamning

(4) Continuous learning

An exchange of facts, ideas, opinion or
emotions by two or more persons is
called

(1) Interaction

(2) Transmission

(3) Communication

(4) Correlation

‘Educational Psychology : Cognitive
View’ is a book of which famous
psychologist ?

(1) Albert Bandura

(2) David Ausubel

(3) B.F. Skinner

(4) Jean Piaget
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128.

129.

130.

Which of the following is not a
function of Modets of Teaching 7

(D
(2)

Designing of curriculum
Development and selection of

instructional materials

(3)

Guiding the teachers activity in
teaching-learning situation.

Selection of social skills

#

Which of the following isfare not the

characteristics of Computer Assisted

Learning ?

a. There is a purposeful interaction
between leamer and the computer
device.

b. For helping the individual learner.

To achieve  the desired
instructional ~ objectives  with
his/her own abilities. '

d. To develop good thinking
strategies.

Select the correct answer from the
codes given below :

(1) aandb
(3) onlyc

(2) candd
(4) onlyd

Which of the following statement is
not true about Mental health ?

(1) Full and harmonious functioning
of personality

@

Process of projection and reaction

formation

conflict and

(3

Redaces tension,
frustration

(4) Abilities to face and accept the
realities of life

12
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131,

132.

133.

134.

Which of the following is the basic

determining  factors for  school

effectiveness ?

{1} Curriculum

(2) Teachers

(3) Management
{4y All of the above

Which psychologist gave the idea of
behaviourism.in education ?

(1) William James
(2) John Watson
(3) Thorndike
(4) Kohlar

The Educational Technology which
has its origin in physical sciences and
engineering is

a. Educational Technology |

b. Educational Technology II

¢. Hardware Approach

d. Software Approach

Select the correct answer from the
codes given below :

(1} aandb

(3) aandc

(2) bandc
(4) aandd

Which of the following is not the
dimension of Emotional Intelligence 7

(1) Perception, appraisal and

expression of emotions
(2) Understanding

emetions

and analyzing

Innate ¢apacity to solve problems
Emotional facilitation of thinking

a

3
(4)
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135. Arrange the following components of

136.

137.

138.

3

a system in their correct order :

a. Environmental context

b. Process
¢. Input
d. Qutput

Select the correct answer from the
codes given below :

(1) bya,d,c
(3) d,a,cb

(2) ¢,d,b,a
(4) ¢, b,d,a

Which of the following is not a level
of Lawrence Kohlberg’s Moral
development theory ?

(1} Conventional level

(2} Pre-moral level

(3) Operational level

(4) Self accepted moral principles level

Point out the stages of moral
development according to Piaget

a. Transition stage

b. Concept learning stage

¢. Consiructive stage

d. Egocentrism stage

Select correct answer from codes

given below :
(1) ab 2) b,
(3) ad (4) «d

Which of the following is not true about
the constructivist principles of learning 7
(1) construct their

undcrstanding and knowledge.

[eamers OWIl

New information is constructed
from prior knowledge.

)

Teacher’s role is most important

in the whole process.
Learning is an active and dynamic

@)

process.

12
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140.

141.

142.

139. Which of the following period 1s

called Agc of Puberty ?
(1) 6to9 years

(2) 10 to 12 years

(3) 13 to 16 years

(4) 17to 19 years

Which of the following statement is
not related to the utility of teaching-
learning material during teaching ?

(1) Good substitute of direct
experience

(2) Helpful in evaluation process of
teaching

(3) Clarity of subject-matter

(4) Making class-room environment

alive and active
The resources which a teacher use to
deliver effective instruction are called
(1) Teaching materials
(2) Secondary resources
{3) Primary resources

(4) Teaching techniques

Which of the following is not a step of
Inquiry Training Model ?

a. Data Gathering : Verification

b. Data Selection : Approach

¢. Data Gathering : Experimentation
d. TFormulation of Explanation

Select the correct answer from the
codes given below :

(1) aandc¢
(3) onlybd

(2) ecandd
(4) onlyc
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143.

144.

145.

146.

Social-contract orientation stage of
Moral Development is associated with

(1) Gilford (2) Jean Piaget
(3) Kohlberg (4) Thorndike

Direct methods of tension reduction
and adjustment are

a. Substitution of other goal
b. Removing the barrier

c. Sublimation

d. Seeking another path

Select the coirect answer from codes
given below :

() ab,d
(3) ab,c

) b,cd
4) acd

Point out the elements of cooperative
learming :

a. Face to face interaction

b. Group work

¢. Individual accountability

d. Cognitive learning

Select the correct answer from codes
given below :
(1) a,cd
(3) b,a,d

(2) b,c,d
(4) ab,c

Which of the following is not a

guidance techmique for nurturing

mental health of adelescent ?
(1}
(2)
(3)

Humour, Friendship, Hobbies
Meditation and Spirituality

Hard-work,
Homework

Competition  and

(4) Self discipline, Self control, Soft
pedagogy
12
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147.

148.

149.

150,

Acquisition of habit, knowledge and

atlitudes is called
(1) Instruction (2) Teaching

(3) Learning {4} Training

Which of the following is not a typc of

learning according to functions ?
(1} Imaginative leamnng

(2) Cognitive Icarning

(3) Learning by skills

(4) Attitudinal learning

Which of the followimg i1s not a
variable of teaching ?

(1) Teacher
(2) Parents
{3) Curriculum
(4) Student

Why good communication skills are
important for teacher ?

a, For effective ieaching-learning

process.
b. For good relationship with parents.
c. For teaching individuals and
groups.
d. For his own satisfaction.
Selcet the correct answer from codes
given below :
(1} a&c
(2} b&d
(3) a&h

{4) All of the above
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